

1 Von einfachen zu Schwierigen Rechnungen

$6 + 4 = \underline{\quad}$

$8 + 2 = \underline{\quad}$

$7 + 3 = \underline{\quad}$

$9 + 1 = \underline{\quad}$

$6 + 5 = \underline{\quad}$

$8 + 3 = \underline{\quad}$

$7 + 4 = \underline{\quad}$

$9 + 2 = \underline{\quad}$

$6 + 3 = \underline{\quad}$

$8 + 1 = \underline{\quad}$

$7 + 2 = \underline{\quad}$

$9 + 0 = \underline{\quad}$

$9 + 1 = \underline{\quad}$

$7 + 3 = \underline{\quad}$

$8 + 2 = \underline{\quad}$

$6 + 4 = \underline{\quad}$

$9 + 0 = \underline{\quad}$

$7 + 2 = \underline{\quad}$

$8 + 1 = \underline{\quad}$

$6 + 3 = \underline{\quad}$

$9 + 2 = \underline{\quad}$

$7 + 4 = \underline{\quad}$

$8 + 3 = \underline{\quad}$

$6 + 5 = \underline{\quad}$

2 $10 + 8 = \underline{\quad}$

$10 + 4 = \underline{\quad}$

$10 + 3 = \underline{\quad}$

$10 + 9 = \underline{\quad}$

$11 + 8 = \underline{\quad}$

$11 + 4 = \underline{\quad}$

$11 + 3 = \underline{\quad}$

$9 + 9 = \underline{\quad}$

$9 + 8 = \underline{\quad}$

$9 + 4 = \underline{\quad}$

$9 + 3 = \underline{\quad}$

$11 + 9 = \underline{\quad}$

$10 + 6 = \underline{\quad}$

$10 + 3 = \underline{\quad}$

$10 + 5 = \underline{\quad}$

$10 + 7 = \underline{\quad}$

$11 + 6 = \underline{\quad}$

$11 + 3 = \underline{\quad}$

$9 + 5 = \underline{\quad}$

$9 + 7 = \underline{\quad}$

$9 + 6 = \underline{\quad}$

$9 + 3 = \underline{\quad}$

$11 + 5 = \underline{\quad}$

$11 + 7 = \underline{\quad}$

3 Welche einfache Rechnung hilft dir?

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$9 + 7 = \underline{\quad}$

$7 + 4 = \underline{\quad}$

$11 + 5 = \underline{\quad}$

$9 + 6 = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$5 + 6 = \underline{\quad}$

$8 + 3 = \underline{\quad}$

$9 + 4 = \underline{\quad}$

$8 + 3 = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$\underline{\quad} + \underline{\quad} = \underline{\quad}$

$7 + 4 = \underline{\quad}$

$9 + 5 = \underline{\quad}$

$9 + 8 = \underline{\quad}$

$6 + 5 = \underline{\quad}$